2012 HBRTSERE REFE [2012.10.17 HEE]
Eif ]

&5 OB O ZIT o7& 2 A, Bl B /KT w,=24.0 %, FeRECEEFEIX
Pama=1.450 t/m* 235 H AT,

Z O+ & AW THEED 500m> D HHI1C 1.5m DJE S THEEER 21TV 20, fiEa /K
IR L= B2 O THIE O 90% CEET 2356, EliCHEE R toeEE
R X,

fREH
[ 6D FE 90% 2 35T 2 HE MR FE 1T,
04 =Pamax' D =1.450%0.9=1.305 (t/m’)

i[5 & & i o K b & RIS & LTe & & ol T
p,=p,(1+w)=1.305%(1+0.240)=1.6182 (t/m’)

—J5, T oOREREIT,
V=500x1.5=750 (m°)

XV, LERTOREET,
m=p, V=1.6182Xx750=1214 (t)

2

RS\ RS2 - Ul a A L LTEERZN1EIEELY £ LT,

Z T BRSO R T,

[t EENTHIHEAEE, BFEIIMBEKESATIREZRELETOT,
EELELLI.



	2012年度　地盤工学基礎 演習課題　[2012.10.17 出題]
	問題
	解答例
	補足


